Intermediate Algebra - Review October 21, 2015

HW #14 - due Fri, 10/16

7.2 #11-21 odd, 43-51 odd, 57-65 odd, Operations on Radical Expressions
85-91 odd, 97-103 odd,113-121 odd
8.2 #59-69 odd Quadratic Equations

HW #15 - due Mon, 10/19
6.3 #17,23,25,33,41,43 Complex Fractions
6.4 #9-310dd Rational Equations

HW#16 - due Fri, 10/23
Handout: Old Test #4 from 2010
Handout: Practice Problems for Test #4

Test #4 - Friday, 10/23
on5.7,6.1,6.2,6.3,6.4,6.6,7.2,8.2

6. Simplify.

f5axt = \:’9/5?.2.)(3.)('
= YP2. K%
= 5)< 3,2_"><
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21. Find the distance between the two points (—8,—2),(—1,-5).

= (kexd) F Yy S Fude Xesya

__\r(_| _(_;)S‘_'_ _5_(_0)? - ‘?74. (-3‘_)7- = ’T‘l +9 :

22. Find the midpoint of the line segment connecting the two points (—8,—2),(—1,-5)
é‘m}jm)= X%e Yohyo) _ (‘"3 ) , <2 *L"?»))
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24. Find the equation of the line with zero slope that passes through the point (=8, —2)

Y=

Find the x- and y-intercepts of the function 6x + 3y = 12.

_ (o n+ 3(0) =2
26. x-intercept: (a?ﬂ:‘z

<z ((2,9]
27. y-intercegt:é(o)"'%y:\z EEEEEE
3U=l2 <—

&
28.Graphthe¥unc?i:m 6x + 3y = 12. EEEE
SYy= R+ EEEEE

Y = -2y 49

¥
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29. Find the equation of a line perpendicular to the line 6x + 3y = 12
that passes through the point (—1,2). 3'3 - - (0 ¥\

=5 3—35"‘&7&) =@t

30. Solve the equation =5 — [4(x — 2) —3(2x —1)] = 2x
N\ ~~
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5—3x<6_o_1’_4x—9£7
kel dxzle e
-\ < -)
X>3 X2% 3 4
(o=,

32. Solve the compound inequality. Give your answer in interval notation.

32. Solve the compound inequality. Give your answer in interval notation.
Solve P quality y {X I X &R 2

3—2x<7.and 3x—12<6 .
2T PR g Z*’
X>-2 X =0 2

NE
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38. List the values that must be excluded from the domain using the roster method.

x=—7(x+9)

e %-@3%

39. State the domain of the function using interval notation.

w4y x P4 @oo =) v (- 097

40. List the range of the function using the roster method, where the domain is restricted to {—1,0,1}.
)= m Jo _ & _
fo) =5 T 2-¢-1) - = 2
o v AT
f(o) = 772
Z.
£(1) = EEI - Vz _ =
L

Z-)\

flx) =

. Solve for x. Cm
! (r+2DR )

7
W, 3 9 ]
l'(x+§’ x+2 x247x+ 10 }

(x.+-2)()<+5
Do 3 _ (RS 5 s 9
\ /M | pey

J

[ x#5
3(>g+z) = 5(x+ ‘?)) -9
Ikt =SSN -9

0+9-25 =Sx —3x

- 10 = 2x
’S:X

\d
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3. Multiply or divide and simplify. State the values which are not in the domain for each variable.
2x* +8x+8  x%-25
x2+9x+ 14  x2+2x—35

= ¥+ 4xt+4) X +2x-35
e +14 X=259

= R(HEYR+2) (W>(7/5> =&(_>532_) X?-fh'@j)
(0r7) (s | X9 2°

4. Subtract and simplify. State the values which are not in the domain for each variable.
2x—1 x*—10x—7
x—4 x?4+x-20

K+s)(x-2)

(2x-D(xr5)  (x* \or‘?-)
(X=4)(%*3)  (x+e)x-1)

2+ OX =K~ - x* ¢+ [Ox +F+_
(x-1)rr9)
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